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x = V202 - 102
= /400 - 100
= V300
=10V3(cm)
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. (DABCDE] Hel) =6V3x 6 = 36V3 (cm?)
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the 1919] 441719 ABCD o4 AP = V6, BP = 3, CP = V5 9
wj, DP o] Zo]=?

A D

D) V2 @ V3 ® 23 @ 32 ® 8
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o] AxZG oA T A7 A gt
AP’ +CP = BP’ +DP

V62 4+ V52 =32 +x2 x=12
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® Vilrem? @) 97 cm? @ 3mcm?
@ 41xcm? ® 6rcm?

(B Y] 2 F) = V52 - 42 = 3(cm) °|E2

(¥l Hol) =7 x 3% =91 (cm?)
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%1‘%3’—} e A7y ABC oA C
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AB 3 4
- —— =_—-0 El_i = _— 0
cos A 5 ] sin A 3 =
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sin A =5 122 AC =~ li=;
T3 AC = % =10 o]t}
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et ats A2lof] o5 AB = V102 - 82 = 6 0]E=2
wFabA AABC 9] WOl 6 x 8 x % _ 94 o]t}




12. 2sin45°cos45° + cos30°sin30° 9] 3F2?
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13. o= 2™ Aol xy of #27

@D 42 @ 8V2 @16«/5 @ 322

® 48+2

B

cos 45° =

tan4b° == =1, y=4

e =

Ly =4V2x4=162




14. 0°<x<45° € o, /(1 -tanx)? & Fk2?

@l—tanx @ tanx+1 ® tanx-—-1
@ 1 ® 0

0° < x <45° ¥ o], tan x < tan45° ©]2 2 tanx < 1 o[t}

wbA] 1 —tanx > 0 ©]2, /(1 -tanx)? =1 - tanx ©|T}.




15. o 2™ 22 AR Eol x 9] HolE

Fateler.

/ \10¢m
L x = 1/102 - (5v2)2 z 3
— V100 -50 H-5/2cm




16. Afzivle] 28 B, oM 71 22 gt 7 2 gl A= ?

Zte sin cos tan

10° 0.1736 0.9848 0.1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0,7071 0,7071 1,0000

@ 0.6225 @ 0.8112 @0.8264
@ 0.8437 ® 1.1736

FolA Foll A 71 AL ghe sin10° = 0.1736 , 7P 2 2
tan45° =1
Cotan45° —sin10° = 0.8264




17. o5 ™A x 9] g8 FotH? (T, sind4°® = 0.6974, cos44° =
0.7193, tan44° = 0.9653)

A
B‘~-24———’é
@ 21.5341 @ 22.1296 (3)23.1672

@ 24.5934 ® 25.1536

X
tan44° = —
an o

L x =24tan44° = 24 X 0.9653 = 23.1672




18. o3& 193} Zo] ol tisto] 40° B
71 &013 vjgdo] St o] 4-& uet
200m =epzkth AS Aol 2 m =
OFREA] 5FH? (T sin40° = 0.6428,
cos40° = 0.7660, tan40° = 0.8391 )

AX40°

A C
® 153.2m @ 167.82m
® 152.3m @128.56m

BC = AB x sin40°
= 200 x 0.6428 = 128.56 m




19. oS I8N AH=h 2t & off, CH 2] Zol& h 2 YePdH 727

h o
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® htan60° — htan 45° (@)h tan 30°
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nEEE Y He] Aoyt nE gouz
ODABCD 9] Ho]= 43 x 4V3 x sin A = 24 o]t}

sin A = % ojm=2 A =30° o|th
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%< H 2 5% BH = HC = 3 o[t}

&

2
kA AH=4+3V3-3V3=4,
AB= VEZ+3 =50t}

ABDC £ A4 P°|Z2 DH = —~ x

AD = AABC 9] £=4oln g BC £ o|=8s3ith walA BC 9

6 =33 ok,
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214 12x 4 5y - 60 = 0 °] x F3} o] F= 9|2t

Y
Ol A71Ea st & 0, sina x cosa X tana 2 h
A2 Aotk
a/\b5
) \
> E
144
P
> 169

A 12x+5y-60=0=y = —1—52x+ 12028
(E°) _ (o] W=k

(@)~ (o maE) (F

al
Ho| 5, z0]7} 12 o] B2 HIH-2 /52 4 122 = 13 ot}
5
2hA sinag = 3 cosa = — ©]B.= sina X cosa X tana =

12 5 12 144
- - e — __ O
3X13%% =16 I




25. U I3 Zo] BEx]E9] o7t 2 91 Yol AABC 7t sk St
/A =45°, /B=30° <Y u, AB o] Zo|&?
C
30°\B
45°
N~
O V2 @ V6 @) V2+ V6
@ ‘/52‘/6 ® 2(V2 + V6)
HColAd AB o] i £49] &2 H 2 5tH AH =
CA cos45° = V2 o]tk
CH=AH= 2
__ CH
BH = - = V2x V3= 6
~ tan30
B=v2+ 6




